
Mr Alien has got all of his number sentences wrong! Can you spot and fix the problems? 

 

 

It took two weeks to get from planet Zog 

to planet Blob and then 5 more weeks to 

get to Earth. How many days did it take 

Mr Alien to get from planet Zog to 

Earth? 

  
35 -14 = 49 

 

 

 
323 - 364 = 41 

 

 

Mr Alien watched the Earth orbit around 

the sun for 323 days. He knew that the 

Earth takes just over 364 and a bit days 

to orbit the sun. How many more days 

should he keep watching to see a 

complete orbit? 

 

 

Mr Alien travelled back from Earth to 

planet Zog the same way he had come. 

How many days did he spend travelling in 

total? 

 
 

49 - 49 = 0 
 

 

 
63 – 86 = 149 

 

When he left, Mr Alien packed up his 

spacecraft with 86 cartons of juice. He 

drank 63 cartons of juice. How many 

cartoons of juice did he have left? 

 

Mr Alien has prepared 279 dinners. He 

needs 294 dinners. How many more does 

he need to make? 

 

 
279 + 294 = 573 



 

 

 

 

 

 

 

 


